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VRA-01 1

[Maximum Marks : 100

() g sifrart &

(i) T T & AH AT E |

(iii) TF Ty 3 G G BT 3O AT 0 G o o |
(i) All questions are compulsory.

(ii) All questions carry equal marks.

(iii) The parts of same question must be answered together.

SO A W 3T <97 3 H1freh [ =1 of J99 o1 | 39 2 o sl Hifew |
(IS AT : 250) 10

“The Freedom Movement of India was also a struggle for economic development of

the country.” Explain this statement. (Word limit : 250)

Tetieer fear wrimn o & 2 felstee a1 ® w5 g8 1 9o T | (@1 W1 : 250) 5+ 5

What is Digital India programme ? Discuss its importance in Digital Governance.

(Word limit : 250)

WWW@W&WW?%WQ&WWﬁWW%?W
HIFTT | (I G 250) 5+5

Why the Planning Commission was abolished ? What are the differences between
NITI Aayog and Planning Commission ? Clarify. {(Word limit : 250)
[P.T.O.



B & . .
- : ' a4 L
. Ca - ‘
- . .. TR SN
feg ‘*\\5 vorr At T

4 ﬁmﬁﬁaﬁﬁq:mﬁ;éoeﬁg 2x5
(i) wigigan 3 Wi
(i)  iTern wierr-faa T SR W] SR 6
(ifi) 3PS ST T
(iv) Fer-dgg aa v g o
(v) R e e Yg 5
Distinguish between the followings : (Word limit : 50 each)
(i) Bear and Bull
(11) Partial Test Ban Treaty and Nuclear Non-Proliferation Treaty.
(ii1) Latitude and Longitude.
(iv) Electrostatic force and Magnetic force.

(v) Hardwater and softwater.

5. warem EeE % A o FEiE % fFu ardm dfaus | o geae B ome § 2
FIANTIT HAEN B 790 T fTH & 2 W HAT | (1 AT 2 250) 5+5
What provisions have been made in the Indian Constitution for appointment of the

Judges of Supreme Court ? What role does the collegiums system has in 1t 7 Clarity.
(Word limit : 250)

6. UARYT famm @ aviE witne | Amfae &9 § gEesh faei F S § TRisE e 3o T
€ 2 faarerm =i | (e T < 250) 4+6

Describe inclusive growth. What initiative steps have been taken in social sector for

inclusive growth ? Discuss. (Word limit : 250)
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a7 =l Feufey wdl e o ol ilaw (@1 | ;50 ) 2x5
(i) wETEE

(i) TR T

(iii) WH T

(iv) TET

(v) TUHTET

Describe the location and importance of the followings : (Word limit : 50 each)
(1) Lohaghat

(ii) Nandadevi National Park

(1) Har Ki Doon

(iv) Ranikhet

(v) Tapkeshwar

e vt femftrat fafae ;. (o =tan : 50 Tei) 2x5
() e = faty s

(i) WTHTA-C30

(iii) TR H

(iv) g

(v) #

Write notes on the followings : (Word limit : 50 each)
(i) Law Commission of India.

(i) P.S.L.V-C30

(1i1) Inter-parliamentary union.

(iv) e-Basta

(v) MUDRA

[P.T.O.
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(i) U Ao
(i) TR T
(iif) swfa wmlgar
(iv) T g
(v) TEES Mt

Why following persons are important ? (Word limit : 50 each)

T
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T

(i) Pankaj Advani

(i) Gulden Turktan
(iti) Arvind Pangariya h
(iv) Sunder Pichai

(v) Pahlaj Nihalani

10. ITTEUE § THIG -G el 1 qUH BT | (I FiHl - 250) 10

Describe the structure of local self-government in Uttarakhand. (Word limit : 250)
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